O-C [min] O-C [min]

Residuals [min]

Lomb-Scargle Periodogram

—— Data
1.21 —— Period: 3.12 epochs
1.0 - —-==- 99% FAP (Power = 0.3)
Data - Fourier Fit 1
0.8 Period: 7.47 epochs
99% FAP (Power = 0.3)
0.6
0.4
0.2
0.0 ~+ T —— ——
10! 102 103
20 Period [epoch]
-== Linear Fit (BIC: -472.75)
30 A —— Fourier Fit 1st (BIC: -483.44)
20 4 Fourier Fit 2nd (BIC: -477.32)
¢ Data
10 A
0 -
_10 _
_20 _
_30 L T T T T T T x T
—3000 —2500 —2000 —1500 —1000 -500 0
Epochs
40 A
1-sigma region
30 A 3-sigma region
50 - ¢ Data
d
10 - ¢
L]
0 * .*0 ¢ o he oo g .’.I.. +:o'oo*o* * ° *‘ 0*.0*0
—10 4 )
_20 .
_30 L T T T T T
0.0 0.4 0.6 0.8 1.0
Phase (Period: 3.12 epochs)
40 A . .
1-sigma region
30 A 3-sigma region
¢ Data - Fourier Fit 1
20 A
10 A
* .
0 *’o "”'o"* e e ¢ ®e o 'ﬂ . L ] '* 24 *" 0'*
. ¢ *
—-10 - *
_20 .
[ ]
_30 - T T T T T
0.0 0.4 0.6 0.8 1.0

Phase '(Period: 7.47 epochs)




